Virginia High School League District Competition, 2000-01 season

Match #11


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

1.
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security. 

2.
Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security. 

3.
After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
4.
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
What novel by Jane Austen centers around the clash and eventual marriage of Fitzwilliam Darcy and Elizabeth Bennet, the second of five daughters?

ANSWER: PRIDE AND PREJUDICE
2.
This nation’s leader, Robert Mugabe, has taken to seizing farms of rich whites and distributing the land to poor blacks in an effort to bolster his shaky rule. What is this nation in southern Africa, formerly called Rhodesia?

ANSWER: ZIMBABWE
3.
A German counteroffensive led by Karl von Rundstedt was launched on December 16, 1944, against and 80-mile front held by largely inexperienced American troops in the Ardennes. What is the name given to this battle, the last major German offensive of World War II, named for the item it created in the American front lines?

ANSWER: Battle of the BULGE
First period (continued)

4.
It arises from the constriction of blood vessels in the brain and their subsequent dilation. What is this condition, often accompanied by vomiting and vision disturbance, which is usually manifested as a severe, one-sided headache?

ANSWER: MIGRAINE
5.
Take two points. Then, take the set of all points such that the sum of the distances between the two original points and all points in the set are equal. What is the geometric figure we have drawn?

ANSWER: ELLIPSE
6.
What are the names given to the “guard cells” that control the amount of water that is in a leaf?

ANSWER: STOMATA
7.
THIS IS A COMPUTATION QUESTION. A factory produces 30 tons of pollution per day from Monday to Friday, and 10 tons of pollution on a weekend. If the first of the month is a Sunday, how many tons of pollution is produced in a 30-day month from this factory?

ANSWER: 720 tons of pollution

8.
What word alternately describes a periodical containing a collection of articles and other features and a compartment in some types of firearms where extra rounds are stored?

ANSWER: MAGAZINE
9.
Most methods of achieving this in art make objects further from the beholder appear smaller, and have receding parallel lines appear to meet on the horizon at a point called the vanishing point. What is this method where the illusion of depth is achieved on a flat surface?

ANSWER: PERSPECTIVE
First period (continued)
10.
There existed in the Americas a political system separate from that of Europe. The U.S. would not interfere with existing colonies. The U.S. would consider any attempts by European powers to expand their influence to the Americas a hostile act. And finally, the American continents were no longer subjects for further colonization. What is this landmark piece of United States foreign policy, adopted in 1823?

ANSWER: MONROE DOCTRINE
11.
THIS IS A COMPUTATION QUESTION. What is the y-intercept of the line graphed by the equation 2X + 3Y = 10?

ANSWER: TEN-THIRDS
12.
This literary woman is married five times, and finally goes to colonial Virginia to live out her life with husband number three, who had turned out to be her brother. Who is this woman, born in Newgate and the title character of a Daniel Defoe novel?

ANSWER: MOLL FLANDERS
13.
What Austrian composer is know for the Trout piano quintet, his over 600 art songs and most famously for his Unfinished symphony?

ANSWER: Franz SCHUBERT
14.
Romania’s coastline lies along what sea? 

ANSWER: BLACK sea 

15.
What are either of the two super-continents that Pangaea broke up into around 200 million years ago?

ANSWER: LAURASIA and GONDWANALAND
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.

1A.
What is the term applied to an economic situation where an industry is dominated by only a couple of competitors?

ANSWER: OLIGOPOLY
1B.
What composer wrote the seven-movement suite, The Planets?

ANSWER: Gustav HOLST
2A.
Quinine (quee-NINE) is useful in the treatment of what common tropical disease?

ANSWER: MALARIA
2B.
A tangent line is a line that touches a curve at one and only one point. What is the name given to a line that touches a curve at more than one point?

ANSWER: SECANT line

3A.
According to Islamic tradition, which angel revealed the Koran to Mohammad? 

ANSWER: GABRIEL 

3B.
What Faulkner novel has the characters Simon McEachern, Joanna Burden and Joe Christmas?

ANSWER: LIGHT IN AUGUST
4A.
THIS IS A COMPUTATION QUESTION. What number is obtained with dividing 25 by ½?

ANSWER: 50
4B.
As a reward for services rendered during the Crusades, the Order of St. John was given what island in the Mediterranean, which remains independent today, and whose capitol is Valetta? 

ANSWER: MALTA 

Second period (continued)
5A.
Who is the French/Romanian absurdist playwright responsible for the plays Rhinoceros and The Bald Soprano?

ANSWER: Eugene IONESCO
5B.
Deuterium and tritium are isotopes of what element, with atomic weights 2 and 3 respectively?

ANSWER: HYDROGEN
6A.
Jefferson Davis held his final Confederate Cabinet meeting in what town in southern Virginia? 

ANSWER: DANVILLE 

6B.
Who was the lead singer of Pearl Jam? 

ANSWER: Eddie VEDDER 

7A.
What is the name given to the enlargement of the thyroid gland?

ANSWER: GOITER
7B.
THIS IS A COMPUTATION QUESTION. Knowing that the sine of a 30-degree angle is ½, we know that if the opposite leg of a triangle is 2 feet, the hypotenuse is 4 feet. What is the length of the other leg?

ANSWER: SQUARE ROOT OF 12 or TWO SQUARE ROOTS OF THREE
8A.
What 18th Spanish painter pained the family of Spanish monarch Charles IV?

ANSWER: Franciso GOYA
8B.
In Mark Twain’s novel Huckleberry Finn, who is Huck’s companion in his travels down the Mississippi, a runaway slave fearful of returning to his master?

ANSWER: JIM 

9A.
What term is used to describe a line segment joining a vertex of a triangle and the midpoint of the side opposite the vertex?

ANSWER: MEDIAN

Second period (continued)

9B.
What name was given to the nomadic horsemen that populated the pampas of central Argentina during the 18th and 19th century?

ANSWER: GAUCHO
10A.
The story of Monroe Stahr, a studio executive, and his downfall is the subject of what unfinished last novel by F. Scott Fitzgerald?

ANSWER: THE LAST TYCOON
10B.
What is the name given to an alloy, such as tin and lead, that melts easily at moderate temperatures, and thus is used to bond two metal surfaces?

ANSWER: SOLDER
Third period: 15 toss-ups

1.
It is the removal of a person, by a state or country in which a person is currently located, to the territory of another state or country, where the person has been convicted or is accused of a crime. What is this process normally done, for example, if an accused murderer in Virginia is caught in Maryland?

ANSWER: EXTRADITION or EXTRADITING or EXTRADITE
2.
Everyone knows Hillary Clinton is the next Senator from New York state. But who is the former Senator Hillary Clinton is replacing?

ANSWER: Daniel Patrick MOYNIHAN
3.
It is based at the Ames Research Center. In 1992 the giant radio telescope at Arecibo in Puerto Rico was used for this project. What is this project that uses large radio telescopes to detect artificially generated radio signals coming from interstellar space?

ANSWER: SETI or SEARCH FOR EXTRATERRESTRIAL INTELLIGENCE
4.
THIS IS A COMPUTATION QUESTION. A man wishes to build a fence for his dog, but has 200 feet of fencing. How much area, in square feet, can he put in his dog’s yard if he builds a square fence with that 200 feet of fencing?

ANSWER: 2,500 square feet

5.
What sort of noun, which is singular in American usage and plural in English usage, represents a groups composed of things, such as company, team, army, navy and school?

ANSWER: COLLECTIVE
6.
His two birds were named Thought and Memory. He lost an eye, the price of his great wisdom. His horse, Sleipnir, had eight legs. Who was this king of the Norse gods? 

ANSWER: ODIN 

7.
It is caused by uneven burning of the air-fuel mixture, and is corrected by high-octane gasolines. What is this audible sound produced by an engine?

ANSWER: KNOCKING

Third period (continued)

8.
What is the two-letter UNIX command used to list the files in the present working directory? 

ANSWER: ls (the letters are said separately) 

9.
This rumpled and disreputable barrister wins cases at the Old Bailey despite the disdain of his aristocratic colleagues. Who is this creation of John Mortimer, whose wife was referred to as “She Who Must Be Obeyed?”

ANSWER: Horace RUMPOLE
10.
What battle in 490 BC between the Greeks and Persians is remembered today primarily for its distance from Athens: approximately 26 miles?

ANSWER: MARATHON
11.
What acid, also known as methanoic acid, with formula HCOOH, receives its name due to the fact that it is secreted by ants?

ANSWER: FORMIC acid

12.
THIS IS A COMPUTATION QUESTION. In a given season, the average baseball player makes $1.5 million. Remembering that each team has a 25-man roster, and that there are 30 teams in major league baseball, what is the total payroll for major league baseball?

ANSWER: $1,125,000,000 (one billion, one hundred twenty-five million)

13.
The Tower Treasure, written by Edward Stratemeyer, ghosting as Franklin Dixon, was the first book to feature what pair of twin teenage crimefighters?

ANSWER: The HARDY BOYS
Third period (continued)
14.
The heaviest American defeat of the American Revolution was the surrender of 5,100 Americans during the capture of what Southern city by General James Clinton in May 1780, a city in that eighty-one years later would be the start of a new revolution?

ANSWER: CHARLESTON
15.
Who is the French philosopher, born Francois-Marie Arouet, who wrote the novel Candide? 

ANSWER: VOLTAIRE 

Spares

What act that became law on May 18, 1917, called for the classification for military service of all men between the ages of 21 and 30, and was later amended to classify for military service all men between the ages of 18 and 45, a act that is still in force today?

ANSWER: SELECTIVE SERVICE act

Who is the fantasy author that created the characters Belgarath and Polgara? 

ANSWER: David EDDINGS 

What five-letter word is alternately used to describe a belief or custom remaining as part of an outmoded practice, something that has survived decay and deterioration, something cherished for its age and importance or an important religious item?

ANSWER: RELIC
THIS IS A COMPUTATION QUESTION. A corrupt politician is in charge of a project with a budget of $50 million. Assuming he has three cronies who each get 5%, and he gets 10% of whatever remains after his cronies get their kickbacks, how much will be left for the project?

ANSWER: $38,250,000 or $38.25 million (15% of $50 million is $7.5 million, leaving $42.5 million. $4.25 million from $42.5 million is $38.25 million.)

What dinosaur was characterized by two rows of plates along its back from the skull to its tail?

ANSWER: STEGOSAURUS
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